




u = sin nnx ; dv  = e”dx

d u  =  nn c o s  nqdx ; v= ex

&iiu

ex  sin nnx dx = sinnnx(e”)  1: - ~~e’(nacosnaxdx)

= [sin n72  (e’) - 0 1 - nn  [A  eX  cos nnx dx

= -nn JAe’cosnnxdx . . . . . . . . . . (2)
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IX u= cos nnx ; dv  = ex  dx

du = - nn sin nnx dx ; v= e”

&tfU

c ex  cos nnx dx = cosnnx(e”)  1: - {Ae”(-nnsinnnxdx)

= [ cos nr  (e’) - (1) (1) 1  + nn jt eX  sin nrrx dx . . . . . . . . . . (3)

rtnufii  (3) It.4  (2)

d
ex  sin nnx dx = -4el(-I)“-  ~~+nnJ~exsinn:rxdx]

(1 + n2n2)  Jt  eX  sin nax dx =  nn[l  - e ( - 1 ) “ ]

rmufii (4 )  lu (I) dlt

bn  =
2nn[l  - (-l)“e]

1  +  n%*

m 2nn[l  - (-l)“el  sinnnxf(x) = .?I
1  +  nZnZ

. . . . . . . . . . (4)

H%l  ex
m n[l -(-l)“el  sinnnx= 2n  z

II=1 1  +  n2n2
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